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S 1t 20.7
fe - £8 0.1
= ] 0.0
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IZE%EY 0.0
g R E Y -
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952 Rhn—4 0.5
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[Fhivl & 3.7 56 1
—EOh 3.3 46 21
WA 3.2 102 11
E5385C2L 2.0 14 5
F5NAED 2.0 17 9
T 1.9 15 6
Jayaly— 1.8 14 4
AN 15 85 23
AEED 1.4 10 10
NAL & 1.4 17 8

IV RBERIESR(F. 25)

B g miE | WEE | EHE
(ha) (t) (Bn)

<y 10.4 8 2
nE 2.8 16 5
X4 70L—Y 2.6 19 7
58 1.2 2 0
TIL—R1)— 1.2 3 6
WiEs 0.6 2 1
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IZE%EY 0.1
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B g mfa | NEE | BEHE
(ha) (t) (B5h)

TV 1.8 12 29
Joyay— 1.7 112 23
EF5NAETS 9.8 103 36
FrRY 8.6 348 22
WA 8.4 330 23
E5385C2L 7.8 66 14
[Fhivl & 7.7 143 18
S 75 130 39
AEEED 75 66 41
RE 5.1 94 23
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<y 15.8 16 3
BAAR%LL 9.7 221 187
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TIL—R1— 6.5 19 39
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[Fhivl & 9.4 195 22
AL & 9.0 153 42
Joyal)— 6.9 73 13
AL 6.0 64 15
FEFS5NAZTS 5.8 68 21
WA 5.3 232 14
ICALCA 4.4 165 20
FyAy 3.8 171 10
cEo% 3.7 73 19
RE 3.6 75 16

IV RBERIESR(F. 25)

a g miE | WEE | EHE
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<y 19.8 21 4
BAAR%LL 9.7 241 191
nE 5.5 43 13
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fe - £ 8 0 [FhvL & 5.9 100 13
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IZE%EY 0 AEEED 5.4 44 28
B EY — ES5352L 5.3 41 9
1t =3 63 F5NAED 5.3 51 18
T35 RhnN—48 60 RE 4.3 73 18
Z 0 [Z< &0 3.8 150 8
EEEHEEIES (VS FhA—EEREEH)
-4 & | TorACON IV REEEIEL (. 25)
EEER A 14% _
2MBE | T—~1— 7% % H ?,S lu(%i rfﬁwﬁﬁ;
mB | ATZFED 5% TIL—AR1)— 7.3 24 45
AfiRE | % 4% <Y 4.9 5 1
5(fB | 5 & 3% nE 4.7 36 11
58 1.3 2 0
I {EIENEECE. 25) SR B DA 0.7 0 0
R o BE - HEK - 55V FHN—BIRTIZFERE) Ws L < 0.2 1 1
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= 1t 22.0
W EH 0.2 = " mi(h) | 55
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TEEEY 0.0 #Ho0 1.8 86
81 15 W _ TTEAHLD 1.9 400
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REED 2.6 ERRE L RF L EVEDIKT X TR

- 46 -



Eirmh

I BEFEHTEE.25) ik gREmEs¢ M HREMENERIEM(FE. 25)

REENLE (BHM)
& B 163
# % 128
= &) 14
fg - £ 8 7
= <] -
ZIE - HEE -
I=ZEEY -
g R E Y -
ft 3 13
952 KhiN—48 —
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2fimB | E5hAES 14%
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S 1t 2.9
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g HEY -
1€ = 0.6
1i& PN 0.5
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% BB 1 ¥ 1.3

B g mfa | NEE | BEHE
(ha) (1) (B5h)

FES5NAZS 6.3 74 23
"EON 3.2 62 16
Jayaly— 25 27 5
WA 1.4 63 4
TEW 1.3 14 3
FhuL & 1.2 25 3
ES5852L 1.2 11 2
FrAy 1.2 52 3
hE 1.1 24 5
Ew5Y 1.0 25 6

IV REmEEIEG(F. 25)

= g miE | WEE | EHE
(ha) Q) (Bn)

<Y 0.7 0 0
nE 0.7 5 2
58 0.5 0 0
BARZLL 0.4 11 8
TI—AR1)— 0.3 0 2
AES 0.2 1 2

VvV TeEHE(F.25)

2 B Eiha) | AR
YTE - O1E - Gk - -
1R - -
52530 0.6 59
TERE L0 - -
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B g mE | EE | EHE
(ha) (1) (B5h)

FrRy 18.4 829 51
"EON 12.6 207 66
Jayaly— 8.5 77 17
F5NAZED 8.4 83 31
WA 7.8 286 22
EFhuL & 5.2 90 12
ES5852L 4.9 39 9
ZEESD 4.4 36 24
TEWY 4.0 36 10
A LA 3.6 112 17

IV REmEEIEG(F. 25)

= g miE | WEE | EHE
(ha) Q) (Bn)

nE 6.1 37 11
<Y 5.0 4 1
X:2) 4.6 6 1
BAR%ZL 27 53 42
RES 2.6 18 28
T—R1— 1.4 4 7

VvV TeEHE(F.25)
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BR1R - -
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# % 150 ZEED 2.9 29 16

R 1t 17 [Fhuvl & 2.0 41 5

fg - £ 8 — WA 1.6 68 4

= 2] 0 Jayaly— 15 16 3
ZIE - HEE - h&E 1.5 30 6
I=E%EY - FS>NAZS 1.4 16 5

g R E Y — - 3o¥ 3 1.3 25 6

ft 3 23 FrRy 1.1 51 3
T35 RhnN—48 — e 1.1 12 3

5 - (<& 1.1 53 3

EEEHEEIER (V5 FhN—E5B=EH)

B % B Lo qCON [V REERAIRNL (F. 25)
1umB | <k 15% = AR B
O = 4 o =] = =
26EB | AFEFED 8% an B (ha) (t) (BFH)
3GmB | B9 5% hE 1.7 13 4
ABmB | TIL—A~1)— 4% TIL—R1)— 1.1 4 7
56mEB | & 3% oA TIN—Y 0.7 7 3
58 0.7 0 0
0 {EIENEFE (F. 25) EMIHY 0.4 0 0
R o BE - HEK - 55V FHN—BIRTIZFERE) <Y 0.3 0 0
(ha)
= = 39.1 +
E = -~ V {EEHHE(F.25)
e 1t 5.7
o HEE
*E . i ’;'éﬁ _ an E ﬁﬁ(ha) (:F*'ﬁ'ﬁ)
= ;k*E 0.0 tJJTE - tﬂﬁ - t)]*f 0.9 134
ZIf - 8T - AR - -
T Y _ 52 %30 0.2 19
8 B EW — TEERAHLO 0.4 125
1€ = 1.5
& X 3.6
552 Rhn—5 — X ERRBAICHE R AVEDIEN 01 TERR
" _ ZUE LIk — XL
ERAHEERISAEERCEDIE -1 TXREL
HREEY 0.2 MBMFEERERLAEWVE DI X I TERE
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REREHE (BHMA)
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ES 1 55
e - 28 0
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ZIE - HEREE 0
I=EEY 5
oM EY —
(3 = 19
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EEEHEEIER (V5 FhN—E5B=EH)

B3 LT =] 1Btk (%)
16&E | CF241 22%
2fimB | E5NhAES 15%
3fimB | b b+ 12%
4fifmB | BARGL 6%
S5fimB | &Y 5%

I {FIENMETEE. 25)

MRH - TEE WK - TS5V FAN-BIRNFREHE]
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& ] 131.3
# 3 94.9
g 1 15.8
fg - £48 2.4
= 2] 0.0
ZIE - #BEE 0.2
IZE%EY 13.6
g7 FE Y -
ft 3 1.3
i ZN 3.2
5352 Khi\—%8 —
i —
% e 1 ¥ -

B g mE | EE | EHE
(ha) (1) (B5h)

—EON 21.3 412 107
F5NhAZS 20.1 235 73
EFhivl & 6.4 132 15
WA 5.8 255 16
TEWY 5.8 61 14
nE 4.1 85 18
Jayaly— 3.9 42 7
ES58A2L 3.4 32 6
FrAy 3.1 138 8
FEEIA 29 137 7

IV REmEEIEG(F. 25)

= g mE | WEE | EHE
(ha) Q) (Bn)

<Y 7.2 8 2
BINFH A 2.4 2 0
X:2) 1.7 2 1
BAR%ZL 1.6 39 31
TI—AR1)— 0.9 3 6
YA 0.7 15 8

VvV TeEHE(F.25)

2 B Eiha) | AR
YTE - O1E - Gk 0.0 20
1R - -
%40 - -
TEERE L0 12| a2

MRTBAITHIEWNEHDIN 0 I TREE
Za% LIdN—1T&aE
BEAFEIIFAEERCEHDIE - TREL
MERELRERLGEVEDIFTXITRE
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R 1t 71
fe - £ 4 0
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ZIE - HEFE 0
I=ZREY 4
B EY —
1€ = 3
952 KhiN—48 -
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EEEHEEIER (V5 FhN—E5B=EH)

NEif:z dt B HaREL (%)
1fimB | BRGL 22%
2fifB | b7 b 12%
SfimB | B9 5%
4igmB | E5hATS 5%
S5fumB | W A 4%

I {FIENMETEE. 25)

MRH - TEE WK - TS5V FAN-BIRNFREHE]

(ha)

& H 62.9
L3 x 37.7
2 5| 9.6
fe - £8 0.4
= 58 0.1
ZIE - HBEE 0.1
IZE%EY 11.9
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®IEED 1.0
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B g mE | EE | EHE
(ha) (1) (B5h)

WA 3.7 160 10
EFhuL & 3.5 73 8
F5NAES 3.2 37 12
TEW 2.8 30 7
Jayaly— 2.3 25 4
FrAy 1.9 87 5
ES5852L 1.9 18 3
CEDORE 1.8 35 9
hE 1.6 32 7
AL & 15 25 7

IV REmEEIEG(F. 25)

= g miE | WEE | EHE
(ha) Q) (Bn)

<Y 2.9 3 1
BALL 2.8 70 56
nE 1.6 12 4
BINAHA 0.7 0 0
TI—AR1)— 0.7 2 4
3% 0.3 0 0

VvV TeEHE(F.25)

£ B mH(ha) | TR
R 00| 16
BRAR 0.0 0
2 5310) 0.0 6
AR L0 00| 27
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BEAFEIIFAEERCEHDIE - TREL
MERELRERLGEVEDIFTXITRE
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fg - £ 8 2 ES53HAC2L 12.0 105 21
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ZIE - HEE 0 EFWIA 9.4 384 25
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(ha)
& E 232.6
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81 15 W 78 TTEAHLD 1.6 457
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